Levene BK
Barometer Ansv. Wolfgang/Lennart 2019-11-25

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang % Namn MID Klubb
1 4 275 63.66 Gunder Persson - Bengt Lindblom 7640 19041 Skovde BA
2 7 261 60.42  Anita Ljunggren - Irén Laang 15061 86441 Lidkopings BK
3 6 260 60.19 Per-Arne Svensson - Lars-Erik Sjoman-Kihnel 9720 9991  Lidkopings BK - Grastorps BS
4 10 254 58.80 Ake Dalemo - Curt Sjélin 3764 15066 Levene BK - Lidkdpings BK
5 3 247 57.18 Sven-Goéran Lennartsson - Goran Andersson 12534 11026 Herrljunga BK
5 8 247 57.18 Anders Ehn - Gert Karlsson 43472 26256 Levene BK
7 16 244 56.48 Bengt Persson - Bo Fransson 9794 9339 Levene BK
8 5 236 54.63 Anders Wersén - Jussi Barzén 25681 14776 Skara BS
9 18 231 53.47 Jan-Erik Persson - Tore Ljunggren 49160 40150 Kvanums BK - Levene BK
10 11 226 52.31 Agne Ekstrom - Ove Andersson 41243 1750 Upphéarads BK - Levene BK
11 9 225 52.08 Roland Green - Egon Fahlgren 90940 7680 Levene BK
12 14 223 51.62 Sven-Olof Johansson - Hans Lundgren 57420 26601 Kvénums BK
13 15 209 48.38  Wolfgang Kegel - Lennart Gustafsson 11958 7918 Levene BK
14 2 208 48.15 Stefan Zylberstein - Hans Johansson 84914 5090 Vanersborgs BS - Levene BK
15 19 176 40.74  Lage Ljunggren - Susanne Rosengren 40773 62750 Kvanums BK - Herrljunga BK
16 12 169 39.12 Lennart Krook - Hans Andersson 27250 26475 Kvéanums BK - Levene BK
17 20 167 38.66 Kent Lundgren - Mikael Nyberg 46234 7628 Levene BK
18 1 164 37.96 Bengt Roland - Malte Johansson 56887 56885 Levene BK
19 13 158 36.57  Carl-Eric Gustavsson - Hakan Johansson 49165 49164 Kvanums BK
20 17 140 3241 Claes-Goran Edlund - Lisbet Edlund 56902 62814 Kvéanums BK - Levene BK
1 4 EK10 Bésta kontrakt 2 4 DKn986 Basta kontrakt 3 a72 Basta kontrakt
Nord vED42 3NT N =400 Ost v73 2v O =-110 Syd v D9752 INT V =-2220
Ingen *7 NS + E8765 ov + K95
#ED653 & ¢ v & NT &9 & ¢ v o NT #3852 & ¢ v & NT
4DKn74 462 N 109 8 9 9 4102 47543 N5756 4 4643 4 EKD85 NO3200
v 109765 vKn8 S 109 8 9 9 vKn542 vEKS8 S5756 4 vEK63 vKn4 S03200
¢ E105 ¢ K943 03 4444 + KDKn9 ¢ 104 086 86 7 ¢ E102 +D4 O 1310101313
*4 #Kn10987 V 3 4 5 4 4 *E42 2KD63 V7618¢67 #EKNn7 #K964 V 1310101313
#9853 4 EK 4 Kn109
vK3 vD1096 v 108
+ DKn862 +32 + Kn8763
*K2 #Kn10875 «D103
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3 18 3NN+2 LN 460 180 00| 4 17 14 N+2 vA 140 180 00| 1 3 64V-1 +K 100 18.0 0.0
4 17 3NN+1 L} 430 150 3.0| 3 18 2v V-2 «9 100 13.0 50|17 6 24 O+4 +3 -230 16.0 2.0
15 6 3NN+1 46 430 150 3.0|14 7 3NV-2 ¢5 100 13.0 50|14 9 4NV +1 v5 -660 14.0 4.0
9 12 3NS= v6 400 80 10.0|16 5 3NV-2 «Q 100 13.0 5.0|10 13 44 V+2 v5 -680 12.0 6.0
11 10 3NS= ¢5 400 80 100|(20 1 4vDV-1 49 100 13.0 50| 4 19 3NV +3 v2 -690 10.0 8.0
14 7 3NN= ] 400 8.0 10015 6 3NO-1 *] 50 8.0 10.0{20 2 3NV+4 v2 -720 8.0 10.0
16 5 3NN= v] 400 80 100|113 8 2v V= *9 -110 6.0 12.0(16 7 64 V= 47  -1430 6.0 12.0
20 1 3NN= «7 400 80 10.0|19 2 INV+1 +5 -120 40 140| 5 18 6NV = «2  -1440 2.0 16.0
19 2 3NN-1 ] -50 20 16.0|11 10 2v V+1 *A -140 20 16.0(12 11 6NO= v5  -1440 2.0 16.0
13 8 3NN-2 ] -100 0.0 18.0| 9 12 INO+2 v6 -150 0.0 18.0|15 8 6NV= 8  -1440 20 16.0
4 4 E105 Bésta kontrakt 5 & K1065 Bésta kontrakt 6 & K96 Bésta kontrakt
Vast v43 5¢ N =600 Nord vED103 4v N =620 Ost vD1054 54 O D -1 200
Alla + KD5 NS +8 ov + KKn986
#ED765 & ¢ v & NT #KD97 & ¢ v & NT & ¢ v & NT
4 K74 4 Kn986 N 11117 8 9 4DKn842 &7 N6 7 109 7 « ED82 4 Kn107 N 3 7 104 6
vEKn82 vKD106 S 11117 8 9 v5 v KKn7 S 6 6 109 7 v- v 7632 S 3 7 104 6
742 498 011651 4962 ¢ KD1043 06 6 345 ¢E4 ¢+ D1052 O 104 3 8 6
#Kn32 %984 V11651 #EKn52 410643 V66345 #Kn1065432 #K9 V 104 3 8 6
4 D32 4 E93 4543
v 975 v 98642 v EKKn98
+ EKn1063 ¢ EKn75 +73
«K10 «8 »E87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 3 3NS+2 ¢7 660 180 00| 5 1 4vN= 47 620 140 40| 5 1 4vS= ¢A 420 16.0 2.0
4 19 3NN= v6 600 9.0 90| 6 19 4v N= +K 620 140 40| 6 19 4v S= ¢A 420 16.0 2.0
5 18 3NN= v6 600 90 90|11 14 4v S= 4Q 620 140 40|16 9 4v S= ] 420 16.0 2.0
10 13 3NN= vT 600 90 9.0|17 8 4vy N= +K 620 140 40|18 7 44DV-1 #Q 200 12.0 6.0
12 11 3NN= vK 600 90 90|18 7 4vS= v5 620 140 40|20 3 3v S+l ¢A 170 10.0 8.0
15 8 3NN= vK 600 9.0 9.0|13 12 2v S+2 42 170 70 11.0(11 14 3v S= ¢A 140 7.0 11.0
16 7 3NN= vK 600 9.0 9.0|[15 10 2v S+2 6 170 7.0 11.0|(15 10 3v S= ] 140 7.0 11.0
17 6 3NN= vK 600 90 90|16 9 3vS= +6 140 40 140| 2 4 4v S-1 &5 -50 40 140
20 2 3NN= v6 600 90 90| 2 4 4vS-1 +9 -100 10 170(17 8 4vS-2 *2 -100 20 16.0
14 9 2¢ S+2 ¢4 130 0.0 18.0|20 3 4vS-1 6 -100 1.0 170(13 12 4vS-3 *4 -150 0.0 18.0
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7 453 Basta kontrakt 8 4 DKn98 Basta kontrakt 9 & EKKn7653 Basta kontrakt
Syd v Kn98 54 V =-650 Vast v D42 34 N =140 Nord v8 54 N =450
Alla + EKn9853 Ingen 4 Kn632 ov + D2
#Kn6 & ¢ v & NT #D6 & ¢ v & NT #E54 & ¢ v & NT
410764 &4KDKNn982 N 4 7 3 2 2 21072 &K6 N6 96 97 & D42 49 N 105 8 1110
vEKD6 ¥32 S47 322 v9873 vE1065 S6 9697 v K96 vD1073 S 105 8 1110
+64 + K10 08 6 10117 +KD8 ¢ 1075 06 47 36 49863 ¢EKnl1075 O 2 7 5 2 2
#EK8  &D73 vV 8 6 10117 #984 #EKn107 V64735 #Kn103 #K98 V27522
oE 4 E543 108
v 10754 v KKn v EKn542
+D72 ¢+ E94 + K4
#109542 #K532 «D762
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
18 9 64 O-1 v5 100 180 00| 7 1 14 N+2 vA 140 16,0 20| 4 6 44 N+1 43 450 140 4.0
3 5 44 0+1 .7 -650 9.0 90|16 11 24 S+1 v9 140 160 20| 7 3 44 N+1 49 450 140 4.0
6 2 44 O+1 &5 -650 90 90|18 9 34 S= 9 140 16.0 2.0|15 14 44 N+1 ¢A 450 140 4.0
7 1 58V= 43 -650 9.0 9.0|14 13 24 N= ¢T 110 11.0 7.0|17 12 44 N+1 49 450 140 4.0
12 15 44 O+1 *A -650 90 90|20 4 24 N= v5 110 11.0 7.0|19 10 44 N+1 v3 450 140 4.0
14 13 44 O+1 &T -650 90 90| 6 2 INS= v9 90 80 10.0| 1 9 44 N= 49 420 5.0 13.0
16 11 44 V+1 a5 -650 90 90| 3 5 3v0-1 a5 50 6.0 12.0| 8 2 44 N= v3 420 5.0 13.0
17 10 44 V+1 *A -650 9.0 9.0[12 15 2NS- *9 -50 40 14018 11 44 N= ¢A 420 5.0 13.0
19 8 44 V+1 *A -650 9.0 9.0|17 10 1v O+1 aA -110 20 16.0|/20 5 44 N= &8 420 5.0 13.0
20 4 44 V+3 *] -710 00 18.0|19 8 44 S-3 »8 -150 0.0 18.0|13 16 44 N-1 ¢ A -50 0.0 18.0
10 485 Bésta kontrakt 11 « ED64 Bésta kontrakt 12 4103 Bésta kontrakt
Ost v K9843 64 S =1370 Syd v DKn5 3v V =-140 Vast vD109862 5NT N =660
Alla ¢ Kn2 Ingen ¢ 107 NS + KD
»8764 & ¢ v & NT #KKn43 & ¢ v & NT #1093 & ¢ v & NT
aKKn4 4762 N 129 111110 4 KKn7 49 N55376 4 KKn752 #3864 N 105 115 11
vDKn2 ¢1076 S 129 11119 vEK72 10964 S55476 vK vKn3 S 105 116 11
410974 ¢ D865 013222 ¢+ KD64 ¢ 832 088967 ¢ E82 ¢+Kn109764 O 2 8 2 6 2
#Kn92 #1053 V13222 298 #ED765 V88967 D754 &Kn2 V28262
« ED1093 # 108532 « ED9
vE5 v 83 vE754
+ EK3 ¢ EKn95 +53
#EKD #102 #EK86
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 2 3NS+2 +T 660 180 0.0|14 17 INV-2 vJ] 100 180 00| 5 7 3NS+3 2 690 18.0 0.0
4 6 44 S+1 vQ 650 160 20| 9 3 INV-1 3 50 16.0 2.0|18 13 4v S+1 42 650 16.0 2.0
13 16 3NS= ¢T 600 120 6.0| 2 10 INV= ¢7 -90 120 6.0|16 15 44DV-3 ¢K 500 140 4.0
18 11 3NS= +4 600 120 6.0|16 15 INV= 3 90 120 6.0 8 4 3v S+2 ¢A 200 11.0 7.0
20 5 3NS= +T 600 120 6.0|18 13 INV= v] 90 120 6.0 9 3 2v S+3 a7 200 11.0 7.0
17 12 34 S+2 ¢7 200 8.0 10.0|19 12 2& N-2 49 -100 8.0 10.0|19 12 INS+3 4 180 8.0 10.0
19 10 24 S+2 T 170 6.0 120| 8 4 INV+1 a4 -120 50 13.0| 1 11 3v S+1 a7 170 40 14.0
15 14 3NS-1 T -100 40 140|120 6 INV+1 a4 -120 5.0 13.0|14 17 3v N+1 8 170 40 14.0
7 3 6NS-2 *T -200 20 16.0| 1 11 INV+2 a4 -150 10 170({20 6 3v N+1 +J 170 40 14.0
1 9 6NS-3 *T -300 00 180| 5 7 34S-3 vK -150 10 170( 2 10 34 V-2 vT 100 0.0 18.0
13 43 Basta kontrakt 14 4 D1098 Basta kontrakt 15 4 EDKn964 Basta kontrakt
Nord v EKDKn63 54 O D-1200 Ost v EK952 54 S =450 Syd v5 64 S D-2-500
Alla + EK653 Ingen + Kn3 NS 4976
«10 & ¢ v & NT «ED & ¢ v & NT #Kn65 & ¢ v & NT
«D1095 & EK74 N2 11113 4 a4 & Kn65 N8 59 116 a7 a5 N 101 1 101
v4 v 1092 S 2 11113 4 vD103 v Kn876 S 85 9 116 vEK108 vD76432 S 101 1 101
¢+Knl08 ¢7 O 111 2 102 ¢ EKD8754 ¢ 10 047 413 ¢ EKn432 ¢ K1085 O3 12123 7
#87654 #EK932 vV 111 2 102 *Kn6 #109873 V47413 *E104 &73 V 3 12123 7
4 Kn862 & EK732 & K10832
v 875 v4 vKn9
¢+ D942 4962 +D
#DKn *K542 #KD982
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
3 11 1vDN+4 &K 960 180 0.0| 2 12 44 S+1 ¢+A 450 150 30| 7 9 44DN= 9v2 790 18.0 0.0
2 12 4v N+1 4A 650 11.0 70| 6 8 44 S+l ¢+A 450 150 3.0| 2 14 44 S= vK 620 140 4.0
6 8 4v N+1 4K 650 11.0 70| 9 5 44 S+1 ¢+A 450 150 3.0| 3 13 44 S= ¢A 620 140 4.0
9 5 4v N+1 oA 650 11.0 7.0|15 18 44 S+1 ¢+A 450 150 3.0(18 17 44 N= +K 620 140 4.0
10 4 4v N+1 #A 650 11.0 7.0| 1 13 44 S= ¢A 420 8.0 10.0| 4 12 34 S+1 vA 170 10.0 8.0
15 18 4v N+1 4K 650 11.0 7.0|10 4 44 S= ¢A 420 8.0 10.0( 1 15 5v O+1 +Q -480 5.0 13.0
19 14 4v N+1 ¢7 650 11.0 7.0(19 14 44 N= T 420 8.0 10.0|/10 6 5v O+1 3 -480 5.0 13.0
1 13 4v N= #A 620 40 14.0|17 16 5¢ V-3 «Q 150 40 14.0|16 19 4y O +2 +Q -480 5.0 13.0
17 16 2v N+3 «A 200 10 170( 3 11 54 S-1 *A -50 10 170(20 8 5vO+1 +Q -480 5.0 13.0
20 7 3vy N+2 «K 200 10 170(20 7 44 S-1 *A -50 10 170(11 5 6vDO= &K -1210 0.0 18.0
16 465 Bésta kontrakt 17 s E Bésta kontrakt 18 « EKn874 Bésta kontrakt
Vast v 9542 3NT N =400 Nord v6 64 S D -2-300 Ost v 1073 34 S =140
ov + K109 Ingen + D1084 NS + EK
#E982 & ¢ v & NT #K1076542 & ¢ v & NT #DKn9 & ¢ v & NT
4 K732 4Knl084 N9 6 969 4 KKn1073 49842 N9 9223 106 & K532 N9 9497
v Kn3 vD108 S96 96 8 vEKDKn2 v98543 S 109 2 2 3 vKDKn85 v E942 S99497
486432 ¢ EDKn 047 47 4 ¢ KKn7 462 O 3 3 10116 +D1064 ¢7 O4 4846
#K10 »654 V47474 »- #EKn V 3 3 10116 »82 #K765 V 44846
« ED9 & D65 «D9
v EK76 v 107 v6
+75 + E953 + Kn98532
#DKn73 #D983 #E1043
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
18 17 2v S+2 K 170 180 0.0|19 18 5v V-1 s A 50 170 10| 2 16 14 N+1 +7 110 170 1.0
3 13 INS+2 42 150 140 40|20 9 5v0-1 #3 50 170 10| 3 15 3¢ S= vK 110 170 1.0
7 9 INS+2 +6 150 140 40| 5 13 5#S-1 vA 50 140 40| 5 13 INN= »5 90 140 4.0
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16 19 INS+2 42 150 140 40|17 1 5#N-2 v9 -100 120 6.0 8 10 3v V-1 v3 50 120 6.0
11 5 2v S+1 +8 140 100 80| 2 16 2v O+2 3 -170 90 90|11 7 3NN-1 v2 -100 7.0 11.0
4 12 INS+1 2 120 8.0 10.0| 4 14 34 V+1 *5 -170 90 9.0(12 6 34 N-1 vA -100 7.0 11.0
20 8 2v S= ¢2 110 6.0 12.0| 3 15 44 V= +8 -420 50 13.0|17 1 INN-1 v2 -100 7.0 11.0
1 15 INS= *4 90 40 14012 6 44 V= aA -420 5.0 13.0|19 18 44 N-1 .7 -100 7.0 11.0
2 14 INS-2 vJ] -100 20 16.0| 8 10 5v V= *4 -450 10 170 4 14 3v V= + K -140 1.0 170
10 6 INS-3 +3 -150 0.0 18011 7 4v V+l &T -450 10 170(20 9 2v O +1 +K -140 1.0 17.0
19 s E Bésta kontrakt 20 & KKn942 Bésta kontrakt 21 & 864 Bésta kontrakt
Syd v DKn109 4¢ SD-1-100 Vast vED43 5NT V =-660 Nord vK 64 N D -3-800
oV + D974 Alla +D NS + ED974
#D963 & ¢ v & NT #532 & ¢ v & NT #D1042 & ¢ v & NT
4654 «DKn10832 N 8 9 5 4 7 |465 «ED73 N2 2752 |e- » K10753 N 108 1 9 3
vEK865 v432 S895 47 |v62 v K10 S22 75 2 | vED1087643 vKn52 S 109 1 9 3
¢ E52 +6 O4 47 95 | ¢EKKn10742 493 O 8 116 8 11 | +10853 ¢+ K2 O3 4 124 9
&107 #EKn5 V 447 95 |«aE4 #D10986 V 8 116 8 11 | #E #Kn63 V 3 4 124 9
& K97 +108 » EDKn92
v7 v Kn9875 v9
+ KKn1083 + 865 + Kn6
»K842 #KKn7 #K9875
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 16 54 O-2 +8 200 180 0.0| 3 17 5¢ V-1 «5 100 180 0.0| 7 15 34 S= vA 140 18.0 0.0
3 17 2¢ S+1 6 110 16.0 20| 1 19 3¢ V+2 vA -150 13.0 5.0| 4 18 44 S-1 A -100 15.0 3.0
18 2 44 0-1 v7 100 140 40| 6 14 3¢ V+2 3 -150 13.0 5.0| 6 16 44 S-1 vA -100 15.0 3.0
13 7 24 0= *T -110 11.0 7.0| 9 11 4e V+1 &5 -150 13.0 5.0| 5 17 44DS-1 vA -200 12.0 6.0
20 10 2v O= *9 -110 11.0 7.0|13 7 4¢ O+1 +Q -150 13.0 5.0|10 12 4v V+1 46 -450 9.0 9.0
119 2vV+1 oA -140 6.0 12.0|18 2 5¢ V= vA -600 8.0 10.0|13 9 4v V+1 46 -450 9.0 9.0
5 15 34 O= v7 -140 6.0 120 5 15 3NO+1 aT -630 40 140| 2 1 5vV+l 8 -480 4.0 14.0
9 11 34 O= v7 -140 6.0 120(12 8 3NO+1 aT -630 40 140|14 8 4v V+2 48 -480 40 14.0
6 14 2v N-3 2 Q -150 2.0 16.0|20 10 3NO +1 aT -630 40 140119 3 5vV+l vK -480 4.0 14.0
12 8 5#4DN-3 «Q -500 0.0 18.0| 4 16 3NO+2 v7 -660 0.0 18.0|20 11 54DS-3 ¥vA -800 0.0 18.0
22 453 Basta kontrakt 23 4 D85 Basta kontrakt 24 4 D862 Basta kontrakt
Ost v D9543 54 O =-650 Syd v KD85 3NTV =-600 Vast v 10 4ANT N =430
oV + 96 Alla + D10932 Ingen ¢ D432
#E1095 & ¢ v & NT »2 & ¢ v & NT #EK104 & ¢ v & NT
4 EKD94 & Knl106 N3 2823 « Kn10762 & EK4 N6 6 6 4 4 «E5 «KKn1043 N 6 115 6 10
v Kn7 vE S32823 vE2 vKn1096 S 666 44 vKDKn63 v 7542 S 6 115 6 10
¢ EK52 ¢ D1074 O 9 115 1110 ¢ E85 ¢ Kn74 0776809 +10 ¢ Kn7 06 1773
D2 #Kn8764 vV 9 115 1110 #KD5 #Kn63 V7786289 #DKn986 #72 V61773
4872 493 & 97
v K10862 v 743 v E98
+ Kn83 + K6 + EK9865
*K3 #E109874 #53
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
10 12 1a V+4 v4 -200 180 0.0| 6 18 44 V-2 T 200 170 10|20 12 5¢DS= vK 550 18.0 0.0
5 17 44 V= +9 -620 140 4.0|20 12 44 V-2 &2 200 170 10| 5 19 3NS= vK 400 140 4.0
6 16 44 V= v4 -620 14.0 4.0| 7 17 44 V-1 #2 100 13.0 50| 6 18 5¢ S= A 400 140 4.0
14 8 4e V= v5 -620 140 4.0|11 13 3NO-1 T 100 13.0 50| 7 17 5¢ S= vK 400 140 4.0
2 1 44 V+1 v4 -650 6.0 120| 3 2 24 V= vK -110 100 8.0| 3 2 4¢ S+l vK 150 8.0 10.0
4 18 44 V+1 v3 -650 6.0 12.0| 5 19 24 V+1 *2 -140 70 11.0| 8 16 4¢ S+1 vK 150 8.0 10.0
7 15 44 V+1 v4 -650 6.0 12.0|14 10 24 V+1 *2 -140 7.0 11.0|11 13 4¢ S+1 vK 150 8.0 10.0
13 9 4a4 V+1 v3 -650 6.0 120| 1 4 INO+2 *4 -150 3.0 15.0|14 10 5v V-2 +Q 100 40 14.0
19 3 4e4 V+1 v3 -650 6.0 120(15 9 INO+2 *A -150 30 150(15 9 4v V-1 LY 50 2.0 16.0
20 11 3NV +3 +9 -690 0.0 18.0| 8 16 24 V+2 +3 -170 00 180| 1 4 3vV= +Q -140 0.0 18.0
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